MTTC Chemistry Review Test 1: Review and the SI System

Name

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) 6.0 mm is equivalent to how many meters?

A) 0.06 m

B) 6000 m

C) 0.6 m

D) 6.0 x 10-3 m

E) None of  the above

2) If matter is uniform throughout, cannot be separated into other substances by physical processes, but can be


decomposed into other substances by chemical processes, it is

A) a compound

B) a mixture of elements

C) a homogeneous mixture

D) a heterogeneous mixture

E) an element

3) Express the temperature, 422.35 K, in degrees Celsius and in degrees Fahrenheit.


A) 50.89"C, 324.04°F


B) 149.20°C, 300.56°F


C) 695.50°C, 354.39°F


D) 792.23°C, 519.08°F


E) 22.78°C, 98.600F

4) What is the volume of a 12.2 g piece of metal with a density of  9.43 g/cm3?

A) 115 cm3
B) 1.29 cm3
C) 0.773 cm3
D) 12.2 cm3
E) none of the above

5) 3.337 g/cm3 = A) 333.7                  

____kg / m3
B) 0.0337
C) 3.337 x 10-5

D) 3337

E) 3.337 x 10-9

6) Which one of the following has the element name and symbol correctly matched?

A) C, copper

B) Sn, silicon

C) Mg, manganese

D) Ag, silver

E) P, potassium

7) How many significant figures should there be in the answer to the following computation?

(10.07 + 7.395) 2.5

A) 1

B)2

C)3

D) 4

E)5

8) Which of the following is a chemical property of sodium chloride?

A) It is not significantly compressible.

B) It is a solid at room temperature.

C) It melts at a high temperature.

D) It can be decomposed into sodium metal and chlorine gas. 

E) It dissolves in water.

9) A common English set of units for expressing velocity is miles/hour. What is the 51 unit for velocity?


A) cm/s
B) km/s
C) m/s
D) m/hr
E) km/hr

10) If matter is uniform throughout, cannot be separated into other substances by physical processes, and cannot be


decomposed into other substances by chemical processes, it is

A) a mixture of compounds

B) a homogeneous mixture

C) a heterogeneous mixture

D) an element

E) a compound

11) How many significant figures are there in the number 0.00230?


A) 5
B) 6
C) 2

D) 3

E)4

12) Find the mass of an object whose volume is 0.24 cubic cm and whose density is 12.2 g / cm3.

A) 11.96 g

B) 2.9 g

C) 0.02 g

D) 50.8 g

E) none of the above

13) Which of the following is not a physical property of water?


A) It is a liquid at room temperature.


B) It boils at 100°C at 1 atm pressure.

C) It can be decomposed into oxygen and hydrogen gases. 

D) It freezes at O°C at 1 atm pressure.

E) These are all physical properties of water.

14) Convert 8 micrograms to megagrams to give:


A) 8.0 x 10-9 Mg
B) 8.0 x 10-8 Mg

C) 8 x 109Mg

D) 0.008 Mg

E) 8,000,000 Mg

15) Which of the following are chemical processes?

1. rusting of a nail

2. freezing of water

3. decomposition of water into hydrogen and oxygen gases 

4. compression of oxygen gas


A) I, 3
B) I, 3, 4

C) 1,4

D) 2,3,4

E) I, 2

16) In which one of the following is the number correctly rounded to three significant figures?

A) 100 ~ 100

B) 0.01832 ~ 0.018

C) 3.2550 ~ 3.25

D) 10.25001 ~ 10.3

E) 1.325 ~ 1.33

17) One edge of a cube is measured and found to be 13 em. The volume of the cube in m3 is


A) 2.2 x 10-6
B) 2.2
C) 2.2 x 103
D) 2.2 x 10-3
E) 2.2 x 106
18) An object will sink in a liquid if the density of the object is greater than that of the liquid. The mass of a sphere


is 9.83 g. If the volume of this sphere is less than  ______ cm3, then the sphere will sink in liquid mercury

(density = 13.6 gl cm3).

A) 134

B) 1.38

C) 7.48

D) 0.723

E) none of the above

19) Homogeneous mixtures are also known as


A) solutions
B) substances

C) compounds

D) elements

E) solids

20) 1 picometer = 


A) 1 x 108
centimeters B) 1 x 10-12
C) 1 x 10-8
D) 1 x 1010
E) 1 x 10-10
21) Express this number in scientific notation: 0.0000000789 to give:


A) 7.89 x 10-9
B) 7.89 x 10-8
C) 7.89 x 108
D) 7.89 x 109
E) 7.89 x 10-7
22) Convert 2500 kg to grams:


A) 2.5 x 10-6 ng
B) 2.5 x 109 g

C) 2.5 g

D) 2.5 x 106 g

E) 2.5 x 10-3 g

23) The law of constant composition applies to

A) heterogeneous mixtures

B) homogeneous mixtures

C) compounds

D) solutions

E) solids

Answer Key Testname: M1.TST

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1)D

2 A 

3) B

4) B

5) D

6) D

7) B

8) D

9) C

10)D

11)D 

12) B 

13) C 

14) A 

15) A 

16) D

17) D 18) D

19) A 

20) E 

21) B 
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23) C

